

Name = Uzair Ali Shah

ID = 16095

Subject: Applied Calculus

Mam: Shumaila's mazhar.



$$= \frac{1(i+2j+4k) + 3(4i+j+3k)}{1+3}$$

$$= \frac{i+2j+4k+12i+3j+9k}{4}$$

$$\Rightarrow \vec{OR} = \frac{13i}{4} + \frac{5j}{4} + \frac{13k}{4}$$

$$\text{or } xi+yj+zk = \frac{13}{4}i + \frac{5}{4}j + \frac{13}{4}k. \quad \text{Ans}$$

Q=3

$$\text{Sol: } \int_0^2 x^2 e^x dx$$

$$= x^2 \int e^x dx - \int \left\{ \frac{d}{dx} (x^2) \right\} \int e^x dx \Bigg\} dx$$

Integration by parts.

$$= x^2 e^x - \int 2x e^x dx$$

$$= x^2 e^x - 2 \int x e^x dx$$

$$= x^2 e^x - 2 \left[ x \int e^x dx - \int \left\{ \frac{d}{dx} (x) \right\} \int e^x dx \right]$$

$$= x^2 e^x - 2 (x e^x - \int e^x dx)$$

$$= x^2 e^x - 2x e^x + 2 \int e^x dx$$

$$= x^2 e^x - 2x e^x + 2e^x$$

$$\Rightarrow \int x^2 e^x dx = x^2 e^x - 2x e^x + 2e^x$$

Therefore

$$\int_0^2 x^2 e^x dx = \left[ x^2 e^x - 2x e^x + 2e^x \right]_0^2$$

$$= 2^2 e^2 - 2(2) e^2 + 2e^2 - (0^2 e^0 - 2(0) e^0 + 2e^0)$$

$$= 4e^2 - 4e^2 + 2e^2 - (0 - 0 + 2 \times 1)$$

$$= 2e^2 - 2$$

$$= \int_0^2 x^2 e^x dx = 2e^2 - 2 \quad \text{Ans}$$

Q=3 p B

Sol:  $\int_1^2 \frac{\sin \sqrt{x}}{\sqrt{x}} dx \rightarrow \text{①}$

Substitute:  $\sqrt{x} = t$

Diff w.r.t  $x$

$$\frac{1}{2\sqrt{x}} = \frac{dt}{dx}$$

$$\Rightarrow \frac{dx}{\sqrt{x}} = 2dt$$

Limits

when  $x=1$  then  $t = \sqrt{x} = \sqrt{1} \quad t=1$

when  $x=2$  then  $t = \sqrt{x} = \sqrt{2}$

$$\boxed{t = \sqrt{2}}$$

$$\therefore \textcircled{1} \Rightarrow \int_1^2 \frac{\sin \sqrt{x}}{\sqrt{x}} dx = \int_1^{\sqrt{2}} \sin t \cdot 2 dt$$

$$= 2 \int_1^{\sqrt{2}} \sin t dt$$

$$= 2 [-\cos t]_1^{\sqrt{2}}$$

$$= 2(-\cos \sqrt{2} + \cos(1))$$

$$\Rightarrow \int_1^2 \frac{\sin \sqrt{x}}{\sqrt{x}} dx = 2 \{-\cos \sqrt{2} + \cos(1)\} \text{ Ans}$$

Q2:

Sol:  $\int \frac{4x^3 + 10x + 4}{2x^2 + x} dx \rightarrow \textcircled{1}$

$$\begin{array}{r}
 2x^2 + x \quad \overline{) \quad 4x^3 + 10x + 4} \\
 \underline{+ 4x^2} \phantom{+ 10x + 4} \\
 -2x^2 + 10x + 4 \\
 \underline{+ 2x^2} \quad \underline{+ x} \\
 11x + 4
 \end{array}$$

$$\therefore \frac{4x^3 + 10x + 4}{2x^2 + x} = 2x - 1 + \frac{11x + 4}{2x^2 + x}$$

$$\therefore \int \frac{4x^3 + 10x + 4}{2x^2 + x} = \int (2x - 1) dx + \int \frac{11x + 4}{2x^2 + x} dx$$

$$I = I_1 + I_2 \rightarrow \textcircled{3}$$

Here

$$\frac{11x + 4}{x(2x + 1)} = \frac{A}{x} + \frac{B}{2x + 1} \rightarrow \textcircled{3}$$

$$\text{or } 11x + 4 = A(2x + 1) + Bx \rightarrow \textcircled{4}$$

$$\textcircled{4} \Rightarrow 11(0) + 4 = A\{2(0) + 1\} + B(0)$$

$$4 = A(1) + 0$$

$$\text{Put } 2x + 1 = 0 \Rightarrow x = -\frac{1}{2} \text{ in } \textcircled{4}$$

$$\textcircled{4} \Rightarrow 11\left(-\frac{1}{2}\right) + 4 = A\left(x \times \frac{1}{2} + 1\right) + B\left(-\frac{1}{2}\right)$$

$$\frac{-11}{2} + 4 = A(0) - \frac{B}{2}$$

$$\frac{-11 + 8}{2} = -\frac{B}{2}$$

$$\frac{-3}{2} = \frac{-B}{2} \Rightarrow B=3$$

Now

$$\frac{11x+4}{2x^2+x} = \frac{4}{x} + \frac{3}{2x+1}$$

Now (2)  $\Rightarrow$

$$\int \frac{4x^3+10x+4}{2x^2+4} dx = \int (2x-1) dx + \int \frac{11x+4}{2x^2+4} dx$$

$$= 2 \int x dx - \int 1 dx + \int \left( \frac{4}{x} + \frac{3}{2x+1} \right) dx$$

$$= 2 \left( \frac{x^2}{2} \right) - x + 4 \ln(x) + \frac{3}{2} \ln(2x+1)$$

$$= x^2 - x + 4 \ln(x) + \frac{3}{2} \ln(2x+1)$$

Ans.



Q. 4

Sol: Given

$$u(x, y, z) = \frac{1}{\sqrt{x^2 + y^2 + z^2}} \rightarrow (1)$$

The Laplace equation for 3d is

$$\nabla^2 u = 0 \rightarrow (2)$$

$$\nabla^2 = \frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2} + \frac{\partial^2}{\partial z^2}$$

$$(2) \Rightarrow \nabla^2 u = 0$$

$$= \frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} + \frac{\partial^2 u}{\partial z^2} = 0 \rightarrow (3)$$

We have to prove after (3)  
for the given function  $u(x, y, z)$ .

$$\begin{aligned} \text{Now } \frac{\partial u}{\partial x} &= \frac{\partial}{\partial x} (x^2 + y^2 + z^2)^{-\frac{1}{2}} \\ &= -\frac{1}{2} (x^2 + y^2 + z^2)^{-\frac{3}{2}} \cdot 2x \end{aligned}$$

$$\frac{\partial^2 u}{\partial x^2} = -x (x^2 + y^2 + z^2)^{-\frac{3}{2}}$$

$$\Rightarrow \frac{\partial^2 u}{\partial x^2} = \frac{\partial}{\partial x} \left[ -x(x^2 + y^2 + z^2)^{-\frac{3}{2}} \right]$$

$$= -x - \frac{3}{2} (x^2 + y^2 + z^2)^{-\frac{5}{2}} \cdot 2x \\ - (x^2 + y^2 + z^2)^{-\frac{3}{2}}$$

$$\frac{\partial^2 u}{\partial x^2} = 3x^2 (x^2 + y^2 + z^2)^{-\frac{5}{2}} - (x^2 + y^2 + z^2)^{-\frac{3}{2}} \quad \text{--- (A)}$$

Now

$$\frac{\partial u}{\partial y} = \frac{\partial}{\partial y} = \frac{\partial}{\partial y} (x^2 + y^2 + z^2)^{-\frac{1}{2}}$$

$$= -\frac{1}{2} (x^2 + y^2 + z^2)^{-\frac{3}{2}} \cdot 2y$$

$$\frac{\partial u}{\partial y} = -y (x^2 + y^2 + z^2)^{-\frac{3}{2}}$$

$$\text{and } \frac{\partial^2 u}{\partial y^2} = \frac{\partial}{\partial y} \left[ -y (x^2 + y^2 + z^2)^{-\frac{3}{2}} \right]$$

$$= -y \left( -\frac{3}{2} (x^2 + y^2 + z^2)^{-\frac{5}{2}} \cdot 2y \right) \\ - (x^2 + y^2 + z^2)^{-\frac{3}{2}}$$

$$\frac{\partial^2 u}{\partial y^2} = 3y^2 (x^2 + y^2 + z^2)^{-\frac{5}{2}} - (x^2 + y^2 + z^2)^{-\frac{3}{2}} \quad \text{---}$$

$$\text{Now } \frac{\partial u}{\partial z} = \frac{\partial}{\partial z} (x^2 + y^2 + z^2)^{-1/2}$$

$$= -\frac{1}{2} (x^2 + y^2 + z^2)^{-3/2} \cdot 2z$$

$$\frac{\partial u}{\partial z} = -z (x^2 + y^2 + z^2)^{-3/2}$$

and

$$\frac{\partial^2 u}{\partial z^2} = \frac{\partial}{\partial z} [-z (x^2 + y^2 + z^2)^{-3/2}]$$

$$= -z - \frac{3}{2} (x^2 + y^2 + z^2)^{-5/2} \cdot 2z$$

$$- (x^2 + y^2 + z^2)^{-3/2}$$

$$= 3z^2 (x^2 + y^2 + z^2)^{-5/2} - (x^2 + y^2 + z^2)^{-3/2} \rightarrow \text{cancel}$$

Now putting the value in (3)

$$\Rightarrow \frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} + \frac{\partial^2 u}{\partial z^2} = 0$$

$$3x(x^2 + y^2 + z^2)^{-5/2} (x^2 + y^2 + z^2)^{-3/2} + 3y(x^2 + y^2 + z^2)^{-5/2}$$

$$- (x^2 + y^2 + z^2)^{-3/2} + 3z(x^2 + y^2 + z^2)^{-5/2} - (x^2 + y^2 + z^2)^{-3/2}$$

$$\Rightarrow 3(x+y+z)(x^2 + y^2 + z^2)^{-5/2} - 3(x^2 + y^2 + z^2)^{-3/2} = 0$$

$$= -3(x^2 + y^2 + z^2)^{3/2} \left[ 1 - \frac{x^2}{x^2 + y^2 + z^2} - \frac{y^2}{x^2 + y^2 + z^2} - \frac{z^2}{x^2 + y^2 + z^2} \right]$$

$$= -3(x^2 + y^2 + z^2)^{3/2} \left[ \frac{x^2 + y^2 + z^2 - x^2 - y^2 - z^2}{x^2 + y^2 + z^2} \right]$$

$$= -3(x^2 + y^2 + z^2)^{-3/2} (0)$$

$$\frac{\partial^2 u}{\partial x^2} + \frac{\partial^2 u}{\partial y^2} + \frac{\partial^2 u}{\partial z^2} = 0$$

hence Laplace are  
is satisfied.